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1. Let f: Taib] ->IR becontinuous on

Ta,b] and letv:[c, d3 -IR be differentiable
on TC, dT with VITC, di) cTa,b].

If we define GN.=/"*f, show that
G(x) =fIUIx). vix) for all xETC,d].

Prof. Lim G*-GN_limfAx=0

Mean Value Theorem
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-0-x21. gIx = S I 2
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Find GM =g, for 0xx-3

Sketch g
and G.

Does GNx1=gIX) on x=T0,3].
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G(2) doesn't exist.
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1. Use the followingargument to prove
ThemmT 3.8.) SfIGH11 4'Adt=/fix)dx

f:I-IR continuous,

Ta,]

9 =CT,3, 9151cI).
IRefineFlus==ynfixidxfor net,and

Hit) ==F19H)) for +e5. Show that

H'c =f(GH))9ct) for teT and

(ef(xdx =F14(81) =H(P) =f,f141) yct)dt.

Prf. HATbof*x= fIGHIGA)
7.3.10.

(fedx=Fly)) =HIP)=JP HAd=JfI4H/4'td↑a
Fundamental Then of Calculus. A


